X
iy
o

&
o
N

X
iy
o

&

0.95

= 0.2_ A F
g F 5 f
P S e ey B R RRRRItEEt B 015 oo frefee et e e e
S o g o
e} I N O e
° oI v 0.1p ]
0.05F -} -iop- oo bef e b 0.05F -+ fr--omir oo de e e
0:— ---------------------------------- 0:— ------------------------------------------
SO K0is! SEERPR STOR B ERPCORR] RPCTH B  EETRRPRRP: TERRPRS O K0ls! SERRPRRE 0 FEPPESE (NPRRP - TTPPPRRSTRPRRP: [ERPPPS
V) EER SR B8 (RN FUE-FE T N FECTRRE- SRR oV )| EEPUDE T CEPRFE (ERPLE ECURRREICTRRRE: ERRTRS
=0.15F - ep e b e —0.A5F e
_Q_OVE:IIIIIIIIIIIIIIIIIII!””!”” _9_-0\»’2:””!””!””!IIII!””!””
s ' ] s L ! : : ' ]
o L o N : : H
-1 111 - 1T e 1 H1t] 41 111 - 1y 1101 : o
3 -2 3 -2 -1

-1 0 1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
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TP n (PCA- to beamline)
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